The format of the user manual most be folded as a accordion book

cetttec h B /\ CAUTION / PRECAUCION INCLUDED PART LIST / LISTA DE PIEZAS INCLUIDAS

d CAUTION: DO NOT EXCEED RATED LISTED WEIGHT. SERIOUS INJURY OR
PROPERTY DAMAGE MAY OCCUR! WE DO NOT RESPONSIBLE FOR DAMAGES

UNIVERSAL TV WALL MOUNT CAUSED BY IMPROPER INSTALLATION!

GWT-WAMS5-01 FULL MOTION TV WALL MOUNT FOR 17-55 INCHES PRECAUCION: NO EXCEDA EL PESO NOMINAL INDICADO. jPUEDEN OCURRIR @@

SOFOIRIEARICUADIDIFARS 1N1BIE 7555 IFULEAIDAS LESIONES GRAVES O DANOS A LA PROPIEDAD! jNO NOS RESPONSABILIZAMOS
POR DANOS CAUSADOS POR UNA INSTALACION INCORRECTA!

USER MANUAL et ShE e et

\=’

MANUAL DE USUARIO
@ — —

(D)M5/M6 washer (4/8) (E) M4x14 screws (4) (F) M5x14 screws (4)
(D)Arandela M5/M6 (4/8) (E) Tornillos M4x14 (4) (F) Tornillos M5x14 (4)

J WARRANTY AND PRODUCT INFORMATION
GARANTIA E INFORMACION DEL PRODUCTO

£z N e — | = ®

(G) M6x14 screws (4) (H) M8x20 screws (4) (1) 5mm Plastic Sleeve (4)

These terms shall be govemed and construed under laws of (G) Tornillos M6x14 (4) (H) Tornillos M8x20 (4) (1) Arandela de plstico 5mm (4)

t the jurisdiction in which the product was purchased, if any

22Tmm term here is held to be invalid or unenforceable, the such _
term (in so far as it is invalid or unenforceable) shall be given
no effect and deemed to be excluded without invalidating an
of the remaining terms. Getttech reserves the right to amend - Do not use for drywall
any term at any time without notice. No utilizar para paneles de yeso.
(K) M6x60 Self-tap Screw (4) (J) 8x40 Plastic Anchor (4)
L o (K) Tornillo autorroscante M6x60 (4) (J) Taquete de plastico 8x40 (4)

FRONT

f 0% Estos términos se regiran e interpretaran de acuerdo con las

0 o leyes de la jurisdiccion en la que se comprd el producto, si

0 alguno de los términos en este documento se considera

Y invalido o inaplicable, dicho término (en la medida en que

sea invalido o inaplicable) no tendra efecto y se considerara

excluido sin invalidar ninguno de los términos restantes.

Getttech se reserva el derecho de modificar cualquier
término en cualquier momento sin previo aviso.

Step 1-A / For Solid Brick and Concrete Mounting
Paso 1-A / Para montaje en hormigoén y ladrillo macizo

D(ME) K ;

’ | R

£

Drill pilot holes
Perforar agujeros

BACK

Supported screen sizes Tilt
Tamanos de pantalla soportados Inclinacién
=
VESA Swivel
400 x 400 Giro
0=
. . . . D:(x4pcs)
73\ Loading Weight Distance to wall 1.77 - 15.35 inches J:(xdpcs)
k[ clY Peso mdximo de carga Distancia a la pared 45 - 390 mm K:(xdpcs)
FRONT COVER BACK COVER
156mm
Step 1-B / For Wood Stud Wall Mounting ot . Step 2-B / Installing the Display VESA. Step 3-B / Installing the Display
Paso 1-B / Para montaje en pared con montantes de madera =SS Paso 2-B / Instalacion de la pantalla SA: 7575mm  100x100mm Paso 3-B / Instalacion de la pantalla
100x200mm  200x100mm
Do not use for drywall / No utilizar para paneles de yeso. T 200x200mm- 300x300mm
- " == D(M6) 'ﬂ 400x200mm  200x400mm
< " Find and mark the exact 400x400mm ﬁ
| K vy maue s 0 0
'S ubicacion exacta de los (O
orificios de montaje
[e] ! M +
Drill pilot holes
Perforar agujeros
o O —_ —
0
0 0)
D:(x3pcs) 0 0)
K:(x3pcs)
Step 2-A / Installing the Display g g P\ 0 0
- 16 [©] [©] v v
Paso 2-A / Instalacion de la pantalla \% 5= % X E ! A ‘
¥ ¥
Tighten 2 screws
/_/j A Apriete 2 tornillos
+8°
Step 3-A/ Installing the Display | "
Paso 3-A/ Instalacion de la pantalla (ﬁ
u | -5
E/F/G/H
Tighten the 4 nuts after locking the TV installation screws
Apriete las 4 tuercas después de bloquear los tornillos de
instalacion del televisor. T
Adjust the Angle with Screw
% — Ajuste el angulo con torillo A:(x1pcs)
A
&
Remove 2 screws
Retire 2 tornillos
Cable management
Manejo de cables
E/F/G/H:(x4pcs)
l:(xd4pcs)  A:(x1pcs) B:(x4pcs) C:(x4pcs)

WE REQUIRE PRE-PRODUCTION SAMPLES IN ALL OUR ARTWORKS. IF

THE SUPPLIER FAILS TO PRODUCE AN ACCEPTABLE SAMPLE WE MAY
REQUEST A FULL REFUND.




